
3.12 1) m = 2600 (1− 0,51 e−0,075·0)
3

= 2600 (1− 0,51 e0)
3

= 2600 (1− 0,51 · 1)3

= 2600 · 0,493

≈ 305,88

2) m = 2600 (1− 0,51 e−0,075t)
3

m

2600
= (1− 0,51 e−0,075t)

3

3

√

m

2600
= 1− 0,51 e−0,075t

0,51 e−0,075t = 1− 3

√

m

2600

e−0,075t =
1− 3

√

m

2600

0,51

−0,075 t = ln

(

1− 3

√

m

2600

0,51

)

t = −

ln

(

1− 3

√

m

2600

0,51

)

0,075
= −

ln





1− 3

√

1800

2600

0,51





0,075
≈ 19,82

3) lim
x→+∞

e−x = lim
x→+∞

1

ex
=

1

e+∞
=

1

+∞

= 0

lim
t→+∞

2600 (1− 0,51 e−0,075t)
3
= 2600 (1− 0,51 · 0)3 = 2600 (1)3 = 2600

Algèbre : logarithmes Corrigé 3.12


